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Stationary and Weakly Dependant Time Series

@ Stationary: joint distribution of stochastic process is stable

S-[::Mj over time E\(XJCNX";” T th\:E(Xku-h\x‘ka\l " X‘L’mh\ wipdow| Wi 1
st . . . N——
M\",:‘) =) Ganrt Stehsea) (;l'\era(-. oS 03 al Si3e iy jadowS S“'“Jf\'ahovf'*p olias
Lo Gonstopt ten voyiante | shewyess, @4.C. both windovs of
@ Covariance stationary: finite mean, finite variance, and Q:D,m\ \u\jbri' Na[[t‘a
SL’:“‘P\}X Cov(x¢, Xt4 1) only depends on h fom @he AbN.
10N I
ECX) = A nd Cov( \: @\\
a +
V(x,t—\ :gl Xhl><t h a

o Weakly dependant: Cov(x¢, xt+p) — 0 has h — oo
b e plac ity "indogerdrrt * asgimp: Frema
Crs-jeconel Aot =) Enably v
1% Ulage o€ LLNV R 20T b7 infrrence



Autoregressive Model and Examples
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@ Which one of the following time series is stationary?
Xk Xt

\

Lov4 et = Xh) j ic

) t ¢
e O n(Hond (hg' Y 'Jrrlu\cl (over,ano Strvcivr (hongss
Var ']\’ﬂ’\"’\' S mcnik:/ChA'\g{"j L»thh h"e = Wﬂ’ @

Vot G
£

4/6




Seasonal adjustment practice
Chapter 10 Problem 5

Suppose you have quarterly data on new housing starts, interest
rates, and real per capita income. Specify a model for housing
starts that accounts for possible trends and seasonality in the
variables.
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Seasonal adjustment practice 4
Chapter 11 Problem 2 Cy~ “.dCOI 0 =) ey S-lﬂ‘h'ohoyj

Let {e;: t =—1,0,1,...} be a sequence of independent,
identically distributed random variables with mean zero and
variance one. Define a stochastic process by
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@ Find E(x;) and Var(x;). Do either of these depend on t?
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